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AL PP a—X (HE)900ml fRE LM REEE 0157 b= %
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AN URT—H) 2 ($R1B) 450g fAE Mt XEBE 0157 b= 1%
Y—R(UFX17A)200ml g M KIZE 0157 = %
FaaFvI (BR fE M REEE 0157 = %
FaaL—roU—L g I KIZE 0157 = %
DEZAIZRL(HYE) fE M REEE 0157 = %
DEZAIZHL(BYE) 500g fREHMEXEBE 0157 = %
EAITHF—X (HlY]) 1ke e MM REZE 0157 = %
1LY AIZ%< 400g fREHMEXEBE 0157 = %
DY DMA(10g) (BiR frEHMmEXEBE 0157 = %
ASYmF@dY-23) fAEHmEXBE 0157 = &
SUDMF (E=ZRTar9o0 YY) fAE Mt XBE 0157 b= 1%
SYMTF (FYABE) fAEHmEXBE 0157 = &
1LY AlZ+< 400g frEtHm4EXBE 0157 (e
DY DEAE (10g) (BIR) fAEHmEXBE 0157 = &
SYMF(DdY-3) g M KIZE 0157 = %
SYMFEZRT1vo0 M) fAE Mt XBE 0157 = %
SYMIF(HYARE) fREHMmMEXREZEE 0157 b= %
AU H T (BESF) fAE Mt XBE 0157 = %
2AR—XEARLYI T (GRERA) g MM KIZE 0157 = %
SYPRI v s fAE Mt XBE 0157 [E 3




THSFA4RAERD REKER

BRE BAEFBEERIEREKE

B & & % & B H BE KR
I—4J L (@a7aT7TSR) 80g et m4EXEBE 0157 [EA
—AAX g M KIZE 0157 = %
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1B Z5L (500g) fREHMmMEXBZE 0157 =
RIAITRL(YR) fE MM REZE 0157 = %
BMNEIXZ fREHMmMEXEZEE 0157 = 1
HH<hH e MM REZE 0157 = %
BEH<H (K) fREHMmMEXEZEE 0157 = 1
FRHZ(ER fE M REEE 0157 = %
KA F) (Bim fREHMmMEXBZEE 0157 =
RKEV)—L(FIaKE) frEHMmEXEBE 0157 = %
BHEENVSGIOYL(JILIT) fAEHmEXBE 0157 = &
BREENVSIOYL(ETTA4I) g M KIZE 0157 = %
BHH&% (FiR) fAEHmEXBE 0157 = &
X frEHMmEXEBE 0157 = %
HAYTXE—K (530g) fAEHmEXBE 0157 = &
AEIIL—YE)—(5ES)50g g M KIZE 0157 = %
AMEIZIL—YE)—(5RES)70g frEtm4EXEBE 0157 [E
BEHLITA (50g) g M KIZE 0157 = %
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MRVAF—(Avh) EHMmEXEBE 0157 b= %
AEITHIT g MM KIZE 0157 = %
BESTHIT huk) BEHMERBEE 0157 (=3
MREIEA g M KIZE 0157 = %
MESIE A (1.25kg) fE M REEE 0157 = %
MEBMDL fREHMmMEXBZEE 0157 b=
mREFa—Y fE M REEE 0157 = %
BET)UE—REIL REHMEXRBEE 0157 = %
AEIOVT GRTR) fEHMmMEXRBE 0157 = %
ARIANYT (R—%)60g g I KIZE 0157 = %
AREE (HIR) (409) frEHMmEXEBE 0157 = %
AEREIE(HIE) (509) fAEHmEXBE 0157 = &
ARSI (HE-AY) frEHMEXBE 0157 = %
MESHL (HIR) (40g) fAEHmEXBE 0157 = &
ARSHL (HIB) (50g) fAE Mt XBE 0157 b= 1%
AR 21—T1(18g) fAEHmEXBE 0157 = &
BRI T—RA=F frEHMmEXEBE 0157 = %
REF—RXT54 fAE Mt XBE 0157 = %
ARFHFUHY(50g) fREHMmMEXREZEE 0157 4
AEFFUNIN— (60g) fAE Mt XBE 0157 = %
ARFIXUR—IL g MM KIZE 0157 = %
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THSFA4RAERD REKER

BRE BAEFBEERIEREKE

B & & % & 1E H BE KR
REBYHALST EHMmEXEBE 0157 b= %
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AEA—OY (hyh) fE M REEE 0157 = %
AERILRINL (BUh) g I KIZE 0157 = %
MRIZ YA F—(8g) fE M REEE 0157 = %
MEIVFNHY (50g) fREHmMEXBZEE 0157 b=
MR TF Y (60g) e MM REZE 0157 = %
MELCERE fREHmMEXBZEE 0157 b= 4
AR frEHMmEXEBE 0157 = %
MABNSBIT fAEHmEXBE 0157 = &
AEBA(EDE -5ghvh) frEHMEXBE 0157 = %
BREAR(KDE-8ghvh) fAEHmEXBE 0157 = &
MRBA(RDE-3H-10ghvk) frEHMmEXEBE 0157 = %
MEBA(RD2E-HH-15ghvh) fAEHmEXBE 0157 = &
AERBA(REL-H5- 1% A) BEHMERBEE 0157 b2 %
AEEBIT(E2) fAE Mt XBE 0157 = %
MEERZITED) AL fREHMmMEXREZEE 0157 b= %
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AERREAL BEHMERBEE 0157 (=3
AERF g MM KIZE 0157 = %
AERER BEHMERBEE 0157 (=3
MEEE fREHMmMEXREZE 0157 = 1
RIS (Fe) frEHMmEXEBE 0157 = %
MEEE(XK) fREHMmMEXBZEE 0157 b=
MREE/ N\ N—7 (60g) frEHMmEXREBE 0157 = %
AR (33)3mm3 x 3cm g I KIZE 0157 = %
AEBRA(O—RZ)3mm 3x 3 frEHMmEXEBE 0157 = %
MEBEADL fREHmMEXBZEE 0157 b= 4
AEBRALS (M1 X 3em) fAE Mt XBE 0157 b= 1%
AEBRRLY (A fAEHmEXBE 0157 = &
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